IBSAT (ICFAI Business School Aptitude Test) is an Aptitude Test Conducted by the ICFAI University Group, for Students Seeking Admission into IBS to Master of Business Administration (MBA) and Post Graduate Program in Management (PGPM) Programmes :

Ques:1 select the synonym of CANTANKEROUS

Quarrelsome

Rash

Disrespectful

Noisy

Ans: (A)

Ques:2 The length of the bridge, which a train 130 metres long and travelling at 45 km/hr can cross in 30 seconds, is:

200 m

225 m

245 m

250 m

Ans: (C)

Ques:3 The miser gazed …… at the pile of gold coins in front of him.

avidly

admiringly

thoughtfully

earnestly

Ans: (A)

Ques:4 The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the age of the youngest child?

4 years

8 years

10 years

None of these

Ans: (A)

Ques:5 Success in this examination depends …… hard work alone.

at

over

for

on

Ans: (D)

Directions (11-14): read the paragraph and answer the following questions:

Harold a professional man who had worked in an office for many years had a fearful dream. In it, he found himself in a land where small slug-like animals with slimy tentacles lived on people’s bodies. The people tolerated the loathsome creatures because after many years they grew into elephants which then became the nation’s system of transport, carrying everyone wherever he wanted to go. Harold suddenly realised that he himself was covered with these things, and he woke up screaming. In a vivid sequence of pictures this dream dramatised for Harold what he had never been able to put in to words; he saw himself as letting society feed on his body in his early years so that it would carry him when he retired. He later threw off the “security bug” and took up freelance work.

Ques:11 In his dream Harold found the loathsome creatures

in his village

in his own house

in a different land

in his office

Ans: (C)

Ques:12 Which one of the following phrases best helps to bring out the precise meaning of ‘loathsome creatures’?

Security bug and slimy tentacles

Fearful dream and slug-like animals

Slimy tentacles and slug-like animals

slug-like animals and security bug

Ans: (C)

Ques:13 The statement that ‘he later threw off the security bug’ means that

Harold succeeded in overcoming the need for security

Harold stopped giving much importance to dreams

Harold started tolerating social victimisation

Harold killed all the bugs troubled him

Ans: (A)

Ques:14 Harold’s dream was fearful because

it brought him face to face with reality

it was full of vivid pictures of snakes

he saw huge elephant in it

in it he saw slimy creatures feeding on people’s bodies

Ans: (A)

Ques:15 In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run rate in the remaining 40 overs to reach the target of 282 runs?

6.25

6.5

6.75

7

Ans: (A)

Ques:16 select the antonym of HAPLESS

Cheerful

Consistent

Fortunate

Shapely

Ans: (C)

Ques:17 The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the area of the rectangle is 216 sq. cm, what is the length of the rectangle?

16 cm

18 cm

24 cm

Data inadequate

Ans: (B)

Ques:18 A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A do the work if he is assisted by B and C on every third day?

12 days

15 days

16 days

18 days

Ans: (B)

Ques:19 Find the correctly spelt word.

Foreign

Foreine

Fariegn

Forein

Ans: (A)

Ques:20 In a certain store, the profit is 320% of the cost. If the cost increases by 25% but the selling price remains constant, approximately what percentage of the selling price is the profit?

30%

70%

100%

250%

Ans: (B
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Direction ( Question Nos. 76 to 80 ) : Study the table and answer the questions given
below :

Number of toys in five types manufactured by company over years ( in 1000 ) :

Toys

Years
a B @ D E
1982 200 150 78 90 65
1983 150 180 100 105 70
1984 180 175 92 110 85
1985 195 160 120 125 75
1986 220 185 130 135 80

76. What was the percentage ( approximate ) increase in production of D type toys
from 1983 to 1985 ?

) 10 B) 20
© 19 D) 25

77. In case of which type of toys was the total production of the given five years the
maximum ?
w c B B
© A D) D

78. What was the percentage drop on production of A type toys from 1982 to 1984 ?
() 30 ® 10

© 20 (D) 50.
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80. The production of E toys in 1986 was what per cent production of B type toys in

1985 ?
(A) 80 (B) 50
© 100 (D) 200.

Direction ( Question Nos. 81 to 85 ) : Answer the questions independently of each other :

81. A person has a chemical of Rs. 25 per litre. In what ratio should water be mixed in
that chemical so that after selling the mixture at Rs. 20 per litre he may get a

profit of 25% ?
A) 9:16 (B} 16:9
€C) 5:4 (D) 4:5.

82. In a class of 25 students, 12 students have taken Economics, 8 have Economics
but not Political Science. The number of students who have taken both Political

Science and Economics is
@A) 4 (B) 6
[(S -] D 3.

83. Aand B travel the same distance at 9 kmph and 10 kmph respectively. If A takes
36 minutes longer than B, the distance travelled by each is

(A) 48 km W e

(€C) 60 km (D) 125 km.
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Two women start together to walk to a certain destination, one at 3 kmph and

another at 3-75 kmph. The latter arrives half an hour before the former. The

distance is
(A) 6km (B) 75 km
(€) 8km (D) 96 km.

Direction ( Question Nos. 86 to 88 ) : Answer the questions independently of each other :

86.

8

N

88.

If x = (12z +13% 4142 - 15%). then x divided by 50 leaves remainder of

(A) 44 (B) 24
(€) 54 (D) 34.

One pipe can fill a tank in 40 minutes, another pipe can empty it in 60 minutes. If
both the pipes are opened at the same time, then how much time will it take to fill

up the tank ?
(A) 80 minutes (B) 90 minutes
(€) 100 minutes D) 120 minutes.

From 6 boys and 4 girls, 5 are to be selected admission for a particular course. In

how many ways can this be done if there must be exactly 2 girls ?
@) 110 B 120

(€) 220 D) 210.
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ection [ Question Nos. 89 to 93] : Study the lollowing table to answer the questions

based on it :

Loans disbursed by five banks over the years

(in Crores of Rupees )

89.

90.

91.

( Years
Banks
1982 1983 1984 1985 1986
I 18 23 45 30 70
n 27 33 18 41 37
m 29 29 22 17 11
v 31 16 28 32 43
v 13 19 27 34 42
Total 118 120 140 154 203

In which bank was the disbursement of loans more than 25 per cent of all banks
in 1985 ?

a1 B 1
(€ m D v

In which of the following banks did disbursement of loans continuously increase
over the years ?

Ay 1 (B) n
© v ) .

In which year was the disburscment of loans least as compared to the average

disbursement of loans over the years ?
(A) 1982 (B) 1983

(€) 1984 (D) 1985
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93. What was the percentage increase of disbursement of loans of all banks taken
together in 1984 and 1985 ?

@ 4 B 6
© 8 D) 10
Direction ( Question Nos. 94 to 98 ) : Answer the questions independently of each other :

94. A Is 300 days older than B and C is 50 weeks older than A. If C was born on
Tuesday, on which day was B born ?

(A} Wednesday (B)  Sunday
() Tuesday (D) Monday.

95. A is twice as fast as B and B is thrice as fast as C. The journey covered by C in
54 minutes will be covered by B in®

(A) 18 min (B) 27 min
(C) 38 min (D) 9min.

96. Roopall walks 10 metres infront and 10 metres to the right. Then every time
turning to her left she walks 5. 15 and 15 metres. How far is she now from her
starting point ?

(A) 10 metres (B) 20 metres
(C) 5 metres (D) 15 metres.

97. A team of 30 men is supposed to do a work in 38 days. After 25 days, 5 more men
were employed and the work finished onc day earlicr. How many days would it
have been delayed if 5 more men were not employed ?

(A) 5 days (B)  3days
(€ 1day (D) 6days.




